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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forG3-2_0
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G3-2

BfiE) | GEBATK (RY) | EHRE (EA/K) | ERERE (B/R) | XS ERE

05:55 127 80.0 1.728 5| FEAe05:55 KENFEFE (RAMEEE)
06:50 127 80.0 1.728 F|  FiHAe06:50 KREFEF (RF{EREIEE
07:45 127 80.0 1.728 & FiHfe07:45 KREIEF (REERES)
08:40 127 80.0 1.728 5| FEAQ08:40 KENFEFE (CRAfEEE)
09:35 127 80.0 1.728 5| FHA@09:35 KENFEF (GRAA{EEIEE)
10:30 127 80.0 1.728 5| FEA@10:30 KENFEF CGRAMEEEE)
11:25 127 80.0 1.728 5| THe11:25 RHERF (REAERSE)
12:20 127 80.0 1.728 5| FHAe12:20 KEIEFE CGRAEESE)
13:15 127 80.0 1.728 5| FHA@13:15 KENFEF CGRAMEEEEE)
14:10 127 80.0 1.728 5| FHEA@14:10 KENFEF CGRAMEREE)
15:10 127 80.0 1.728 5| FEAe15:10 KEIEFE CGRAMFESE)
16:20 127 80.0 1.728 F(  FiHAe16:20 KREFEF CGRAERE)
Bit] 1524.0 (12)%) 960.0 3EHREC: 3000.0, PH: 6.5

unusual large postFgEt from yesterday (267), set to 240.0 ml.
REXEBIPH (10.45) 5i&7EPH (6.48) REKK, 1HHE
REXJEBIPH (10.45) 5FMPH (6.5) RERK, EHRE
PEEIRECE (2672. 0 vs 3540.0) fRe




FRV (ml plant-1)

ET (ml/hr/plant)

G3-2_0, Day=26 (2025-06-07)

%b VO, , ET — VI, VO, FVI, FVO, FRV, ad jFRV, ET L 1000
78 831

0.6 - - 750

0.4 - 500

0.2 A - 250

optEC0=1800. 0, setECB=3000.0

optPH0=6. 5, setPHB=6.5

0.2~

400

4 1500

300 -

ByWoFy @D26 01:38: ET=831 Fg=960.0 Ro=29.0 2 |

200 - :
1
1 |
100 i 500

1.0

0.8 4 8 g g i i g g i i g B A B B B A B B B A B B B A

0.6 1

0.4+

0.2~

0.0
800 A

600

400 -

200
W ing:

s, 'PPFD _obs'] is missing

25 A

20 A

15 4
obs', 'To_obs'] is missing

80 4 4

60

40 -

—— RH Warning: col ['RH_obs’, 'RHo obs’] is mi

0.6 1

0.4+

0.2~

00 T T T T
0.0 0.2 0.4 0.6 0.8 1.0

FRV (ml d-1)

cumET (ml/plant)



hour

140
:30
125
:30
:30
115
:00
:50
:40

@
%
§
3
%
;3‘?
%
%

100

80

- 60

- 40

§_

%

8
A
N
%,
2y

2 %
- %
%

%

%



G3-2

BfiE) | GEBAK (R | ERE (EAR/H) | ERERE (B/R) | XS EE

06:15 125 80.0 1.728 S| {Rige06:15 Bz (RAERSE)
07:00 125 80.0 1.728 E BRi&e07:00 Ba1 (RAERRE)
07:55 125 80.0 1.728 F  BRi1%e07:55 Ba1 (GRAERE)
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11:25 125 80.0 1.728 =l RiBe11:25 B (REAEEE)
12:30 125 80.0 1.728 E BRige12:30 Bz (GRAERESE)
13:30 125 80.0 1.728 5| {Ri%e13:30 B3 (RAERSE)
14:15 125 80.0 1.728 = RRiBe14:15 Bz (REAEESE)
15:00 125 80.0 1.728 E BRi&e15:00 Bz (GRAEREE)
15:50 125 80.0 1.728 El 1BRi&e15:50 Bz GRAEREE)
16:40 125 80.0 1.728 =l RRiB016:40 Bz (RFAEESE)
23t|1625.0 (13%) 1040.0 3ZHKEC: 3000.0, PH: 6.5

REXREBIPH (10.56) 5i8EPH (6.5) IREWR K, BT
FEREIPH (10.56) 5FPH (6.5) REKK, FHE
LRGEBIPH (10.4) 58FEE (6.5) REKK, BFRE.
LORGEBIPH (10.4) S5#EAE (6.5) REHKK, HRE.
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585 590 595 635 640 645
m=870,m FV0=0 m=940,m FV0=0
50 +
36 —o— ME —o— ME
34 - 45 -
32 A1 40 A
30 35 -
28 A
30 +
26
25 +
24 i T T T T T T
870 875 880 940 945 950
m=370,m FV0=0 m=430,m FV0=0
1.0 1.0
0.8 ~ 0. 8 1
0.6 - 0.6 -
0.4~ 0.4 -
0.2+ 0.2 -
Warning: col "MW ] missing Warning: col "MW ] missing
0. 0 T T T T 0- 0 T T T T
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Warning: col "M W ] missing
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Warning: col ['M_E'] missing
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G3-2

BrE) | GEBAKE) | ERE(EH/R) | EREE (F/R) [ XK R

06:30 121 80.0 1.728 =l {Ri%@06:30 B3 (RAAERSE)
07:30 121 80.0 1.728 = {RRi8007:30 B (RFAEEE)
08:45 121 80.0 1.728 | =| 1Ri%e08:45 Bz (kB{EREEE)
09:45 121 80.0 1.728 FA| 1BRi%@09:45 B3zh (KRAB{ERSE)
10:40 121 80.0 1.728 FA| 1BRi%@10:40 B3h (KRAHEREE)
11:35 121 80.0 1.728 FA| 1B2i%@11:35 Bzh (kAEREE)
12:35 121 80.0 1.728 FA| 1BRi%@12:35 B3h (RAERSE)
13:40 121 80.0 1.728 |Z=| 1BRige13:40 Bzh (REERESE)
14:35 121 80.0 1.728 |2 =| 1Ri%e14:35 Bz (kBEREE)
16:05 121 80.0 1.728 (2 =| {Ri%@16:05 Bz (REAFEHSR)
23t 1210.0 (100%) 800. 0 32 03KEC: 3000.0, PH: 6.5

BEXREBIPH (10.55) 5i8EPH (6.5) IREWR K, BT
FEREBPH (10.55) 5FPH (6.5) REKK, FHE
LRGEBIPH (10.6) 5i&8EE (6.5) REKK, BFRE.
LOXRGEBIPH (10.6) S5#EEE (6.5) REHKK, HRE.




FRV (ml plant-1)

3250 4
3000
2750 -

2500

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

G3-2_0, Day=24 (2025-06-05)

B0 F——————————— e ———— e —— e ——mmm—m———mm———mmmmmmm——mmm——mmm———m—mm—————mmm—— =]
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Warning: lcol ['WC1’,

"WC2' ] missing
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cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)



35.

35.

34.

34.

33.

33.

m=395, FV0=0 m=455, FV0=0 m=520, FV0=0
51 4
47 1
50 52
46 50
45 50
45
49
40 - 44 48 -
43 48
35 4 46
T T T T T T T T T T T T
400 600 800 395 400 405 455 460 465 520 525 530
m=595,m FV0=0 m=650,m FV0=0 m=750,m FV0=0 m=835,m FV0=0
90 ~ 48 48
50 -
46
46
48 - 44 4
48 ~ 44 -
42 1
46
46 - 27 40 -
44 - 40 38 +
44 - T T T T T T T T 36 - T T T
595 600 605 650 655 660 750 755 760 835 840 845
m=930,m FV0=0 m m=395,m FV0=0 m=455,m FV0=0
—@— ME 35.0 - —-@— MW 33.5 A —-@— MW —0— MW
] 35
32 5 33.0
32.5 A
30. 0 A
34
32.0 ~
27.5 1
31.5
25.0 A 33 4
31.0 ~
22.5 A
935 940 400 600 800 1000 395 400 405 455 460 465
m=520,m FV0=0 m=595,m FV0=0 m=650,m FV0=0 m=750,m FV0=0
33
9] 34 - 28  —O—
0 32
33 A 27 4
5 A 31 4
0 - 32 + 26
30 A
5 -
31 A
29 - 251
0 -
T T T 30 T T T T T T T T T
520 525 530 595 600 605 650 655 660 750 755 760




m=835, FV0=0
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G3-2

BflE) | GEBRAK @) | ERE(EH/N | EREE (G/R) [ XS R

06:10 121 80.0 1.728 B 1Ri%e06:10 B3 (KAERER)
06:55 121 80.0 1.728 = {Ri%@06:55 B (RFAERSE)
07:40 121 80.0 1.728 E|  {Rig@07:40 B3h (RE{ERSE)
08:25 121 80.0 1.728 5| 1Rike08:25 Bz (KRFEEES)
09:10 121 80.0 1.728 Sl {Ri%@09:10 B (RAERSE)
09:55 121 80.0 1.728 F  1BRi&@09:55 Bz (RAERE)
10:35 121 80.0 1.728 | 1Ri%e10:35 B (RAfEREE)
11:25 121 80.0 1.728 = {Rige11:25 B3 (GRAERSE)
12:25 121 80.0 1.728 E BRige12:25 Bz (GRAERESE)
13:25 121 80.0 1.728 5| {Ri%e13:25 Bz (GRAERSE)
14:10 121 80.0 1.728 =l Rige14:10 B3 (GRAERSE)
14:50 121 80.0 1.728 E BRi&e14:50 Bz CGRAEREE)
15:35 121 80.0 1.728 5| {Ri%e15:35 B3 (RAERSE)
16:20 121 80.0 1.728 =l RRiB016:20 B (RFAEESE)
17:15 121 80.0 1.728 S Rige17:15 B3 (GRAERSE)
2it] 1815.0 (15)%) 1200. 0 3 WHKEC: 3000.0, PH: 6.5

BEXRERLPH (10.85) 5i&EPH (6.5) IREW K, BT
FEREIPH (10.85) 5FPH (6.5 REKK, FHE
[E;%EC (1683.0 vs 1710) {RIE

FURGEEIPH (10.5) 5i8EE (6.5) REK K, BT,
LORGEBIPH (10.5) S5#REVEN (6.5) RERK, BRE.



G3-2_0, Day=23 (2025-06-04)

80 Fr—————F——————F——————F-—————Fc—————F-—————F———— - ————F——————F-—————F————=—]
1915 VO, FRV, ET - VI, VO, FVI, FVO, FRV, adjFRV, ET 1107
96965 - 1000
60 845 88
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- 500
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144 L , v , L
Warning: lcol [FVI',| "FVO’'] missing 34
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] — ME P
— 80 T maxM | 55
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o - 50 _I
E 40-
2 20 - L 45
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0.6 -
0.4 1
0.2 A
Warning: lcol ["WC1',  "WC2'] missing
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0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
— HHE HEE HEE Hi HHE HEE HEE Hi HHE HEE ES ES == E3 ES ES == E3 ES ES == E3 ES ES
3 200 B B B G B B B G B B B G B B B G B B B G B B B 5| 1500
g 1
= ByEt @D23 19:07: ET=1014 Eg=880.0 Ro=nan e & ©
N | - 1000
< P _L & & @ ©
2 1001 — :
— 1 - 500
Ll 1
p o - e & o k
0 P—a——a PN 1 0
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
— HHE HEE HEE Hi HHE HEE HEE Hi HHE HEE ES ES == E3 ES ES == E3 HEE Hi == E3 ES ES
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1 - 500
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2000 1 _— 4
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34 e v f

FRV (ml d-1)

cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)



m=385, FV0=0 m=440, FV0=0 m=495, FV0=0

56 - —e— ME —e— ME —e— ME —o— ME
54.0 - 96.0 1 56. 0 -
54 -
55. 5 - 55 5 -
52 53.5 -
50 4 55. 0 - 55. 0 -
53.0 -
48 - 54.5 - 94.5 1
46 1 52.5 54.0 4 54.0
T T T T T T T T T T T T T
400 600 800 1000 385 390 395 440 445 450 495 500 505
m=545,m FV0=0 m=595,m FV0=0 m=655,m FV0=0 m=730,m FV0=0
—o— ME —8— M_E | 55.25 - —e— ME —o— ME
56. 0 - 55. 5 -
55. 00 - 53 -
55. 5 - 55. 0 -
54. 75
55 0 - 54.5 - 5
54. 50 -
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54. 25 -
54 0 _ 53 5 N 51 N
54. 00 -
53.0 -
53 5 B T T T T T T T T T T T T T
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m=815,m FV0=0 m=880,m FV0=0 m=935,m FV0=0 m=1000m FVO=0
—— ME o1 1 —o— ME —— ME 50 4 —— ME
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6 49 -
49 48 1
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i 47 -
50 48 -
47 -
46 -
49 47 -
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m m=385,m FV0=0 m=440,m FV0=0 m=495,m FV0=0
43.0
4 —— MW —-— MW —— MW —— MW
42.0 -
41.5 - 42.5 1
40 -
42.0 - 41.5 1
38 - 41.0 A
41.5 A 41.0 4
36 40. 5 -
34 1 4104 40.5
40.0 -
400 600 800 1000 385 390 395 440 445 450 495 500 505



m=545, FV0=0 m=595, FV0=0
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42.5 1 —— MW —— MW
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. 41.0 -
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‘o5 . 40.0 4
T T T T T T
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38 1
—— MW —— MW
38 -
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35 A
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G3-2

BfiE) | EBAK ) | EHE (EHR/HK) | ERERE (/R | XK R

06:15 118 80.0 1.728 = {RRiB006:15 Bz (RFAKEE)
07:00 118 80.0 1.728 E 1BRi&e07:00 Bzl (RAERE)
07:45 118 80.0 1.728 E|  {Rige07:45 Bah (RFE{EREE)
08:35 118 80.0 1.728 = {RRiB008:35 B (FRFAEEE)
09:25 118 80.0 1.728 5| {Rig@09:25 B3 (KRAERSE)
10:10 118 80.0 1.728 =l Ri8010:10 Bah (RAEESE)
10:55 118 80.0 1.728 =l {Ri%@10:55 B3 (RAERSE)
11:50 118 80.0 1.728 Sl {Rige11:50 B3 (RAERSE)
12:45 118 80.0 1.728 E| {Rig012:45 B3h (GRE{ERSE)
13:45 118 80.0 1.728 E BRige13:45 Bz CGRAERESE)
14:30 118 80.0 1.728 S| {Rig014:30 B3 (RAERSE)
15:20 118 80.0 1.728 F BRige15:20 Bz (GRAERERE)
16:00 118 80.0 1.728 F BRige16:00 Bz (GRAERRE)
16:50 118 80.0 1.728 =l {Rig016:50 B3 (RAERSE)
H2it] 1652.0 (14)%) 1120.0 3EGHKEC: 3000.0, PH: 6.5

FEREHLERE S TEIEARTF (68.0 :

ZRIASERRIERES3. 0 ml.
FERZERPH (10.64) 5i&5EPH (6.5) REK K, BT
BEXERBIPH (10.64) 5FMPH (6.5) REK K, HRE
[E;&EC (1658.0 vs 1710) WK

LRGEBIEC (2819.0) 51REVZEY (2340.0) REK K, BHRE.

83.0), FIREKRFBERE

ERGEBPH (10.7) 51REE (6.5 RERK, HEE.
ERGEEBPH (10.7) SR (6.5 WERK, HHRE.




G3-2_0, Day=22 (2025-06-03)
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Warning: lcol ["WC1',  "WC2'] missing
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m=385, FV0=0 m=435, FV0=0 m=480, FV0=0

55 5 57.0
. PY M_E —— ME —— ME
55.0 96.5
55.5
54.5 - 56. 0
54.0 55. 5 - 55.0
53.5
55. 0
53,0 - 54.5
54.5
T T T T 52 5 - T T T T T T T T T
400 600 800 1000 385 390 395 435 440 445 480 485 490
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T T T T T T T T T T T T
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55.0 94.5 1 54.0 -
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53.0 52.0
690 695 700 745 750 755 805 810 815 855 860 865
m=905,m FV0=0 m=955,m FV0=0 m=1000;m FVO=0 m
545 —— e | 2] —— e | 0] —o— ME
- 54.5
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53.5 53.5 54.0
53.0 + 53.0 A 53. 5 1
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590 4 52.5
- 5 B T T T T T T T T T T T T T T
906 908 910 912 955 960 965 1000 1005 1010 400 600 800 1000
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